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Synchrony of Nonlinear Oscillators Induced by Random External Impulses
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CV(t) = GnamPh(Eng — V) 4+ Ggn*(Ex — V)
+ GL(‘/'I'est - V) + I(t) (1)
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N(t)
X(t) =F(X;To) +1(t), I(t) =D T.0(t—t,) (2)
n=1
000 XO0DODOoOooooooFoOOoOoOoooooooIgOo
IZIIIIIIIIIIIIIIIIIIIIIIEII(t)DDDDDDDDDDDDDDDD
00000 A0 Poisson0000000OCOOOOO0OO0OOO
N@#DOODtO00ODODO00OO0O000000000({t,,1,}
On0O0000000D00000O00O00O00O00O0O0DO0ODODOOO
000I,0000000I00D0O0DD0ODO0OD0OOD
000000 Ihyooooooooooooooooooo
gooodo Xo(t)DDDDDDDDDDDDDDDDDD
gbobobOobobobobobooobg
ANOOOODDOOOO0OOoOoO0oooooooooooooog
00000000 Iyooooooooooooooooo
gdobogoooooboooobooooboooooooon
gdbobodobobooobbooouobobuoouoboooo
godbobodobobooobboobuobobuoouobboooo
goooOoObOoOooOooboobDobobbOooooooooobo
oo00oooooooooooooooooo (2)D Poisson
Oooooooooooooobooooooon [8,9][]

dMﬂ:ﬂ&hW+/Uﬂ%ﬂ) (3)

000 M(dt,dl) 00000 Poisson 000000 [t,¢+di]
000 [LI+dl|000000000000DO0O0O0O0OoO
0000 E[M(dt,dD)] = Q(D)dtdI 0000000

00 6(X)e[0,1]0000000LO000000000
00000 Xe(t)0OODOOODODOD wOOOOOOOO
000000000000 DO0O00DOOoOoOooo (1,200
(3) O Poisson 00 Markov 0O DOOODOODODOO [8,9]0
goobooooobooooooboooooboooobooooo
0000000000000X(H)0 Xe(A() 000000
0oo00o00oo0oDe)O00ooDoDoooonD

do(t) = wdt + / G(O(t), T)M(dt, dI) (4)
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